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3x+2y—-2z=1
2x+ 4y +1z=20
4x+ 5y —3z=4

3x+5y—1z=158
4x—4y—3z=-13
Ix— 5y —4z=-45

Ix—3y—5z=-19
Ix—4y—4z=-16
Sx+3y—5z=3

4.

H #A:

6bx—5y+3z=5
4x — 4y — 6z =—42
2x—2y—6z=-36

2x+ 6y —2z =36
Ix—3y—5z=-26
6x + 4y — 5z =26

4x— ly+4z =41
Sx+2y—3z=34
Ix—1y—1z=-5
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3x+2y—-2z=1

2x+ 4y +1z=20
dx+5y—3z=4
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3x+5y—1z=158
4x—4y—3z=-13
Ix—=5y—4z=-45
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Ix—3y—5z=-19
Ix—4y—4z=-16
Sx+3y—5z=3
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6bx—5y+3z=5
4x — 4y — 6z =—42
2x—2y—6z=-36
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2x+ 6y —2z =36
Ix—3y—5z=-26
6x + 4y — 5z =26
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4x— ly+4z =41
Sx+2y—3z=34
Ix=1ly—1z=-5
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